
učo 

minitesty (maximální počet bodů z každého 

testu = 40, výsledný součet vynásoben 

koeficientem 0,2) + velký test (max. počet bodů 

=100) = součet (hodnocení) 

178824  

179765      (38+34) 

178629     (32+0) + 72 = 78 (2) 

178981      (37+0) + 38 = 45 (F) 

180753     (0+0) + 57 = 57 (3) 

179675      (0+0) + 32 = 32 (F) 

75080      (31+0) + 83 = 89 (1) 

136860       (37+0) + 53 = 60 (3) 

177793        (40+32) + 72 = 86 (1) 

146388       (28+36) + 67 = 80 (2) 

Hodnocení: 0–49 = F; 50–70 = 3 /E/; 71–85 = 2 /C/; 86–100 = 1 /A/ 

 


